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QUESTION 1

To accurately propose an HP StoreOnce B6200 implementation, which free HP tool is required to analyze the existing
SAN topology?

A. SAN Designer

B. HP Intelligent Infrastructure Analyzer

C. HP Configuration Utility

D. SAN Visibility

Correct Answer: D

SAN Visibility - SAN Analysis and Diagnostics - Hewlett Packard
http://h18006.www1.hp.com/storage/networking/sansolutions.html Free SAN utility to view your SAN Configuration

including firmware revisions and ... Helps with SAN Diagnostics and with analysis and optimization of your SAN. ...
activities and providing a quick and accurate view of your SAN topology.

QUESTION 2

Why is a disk-to-disk-to-tape (D2D2T) backup environment normally used?

A. to synchronize online backups of databases and to automatically overwrite transaction logs
B. to stage backup data to a host-managed, low-cost disk and to facilitate quick restores

C. to enable backups and restores of virtual machines without disrupting virtual applications, and to maximize snapshot
performance

D. to create virtual backups of ESX servers and to enable snapshot restores

Correct Answer: B

QUESTION 3

A Company is designing a new backup strategy. The current backup job takes 72 hours to complete a full backup of all
date, causing a performance impact when the job runs into business hours. What should the company implement to
reduce the businesses impact of the backup job? (Select two)

A. load balancing

B. additional backup media

C. weekly full backups

D. bandwidth limits
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E. nightly incremental backups

Correct Answer: CE

QUESTION 4

Which integration method does DATA Protector use to back up virtual machines in a VMWare environment to resolve
performance issues and create consistent backups?

A. VMware vStorage API for Data Protection (VADP)
B. HP Virtual Server Environment Integration (VSEI)
C. VSS Writer for VMware (VSSVM)

D. HP Integrity Virtual Machines (HPVM)

Correct Answer: A

QUESTION 5

A customer plans to implement an online, zero-downtime backup strategy for a large database application. What needs
to be configured to ensure database consistency after the backup is complete?

A. split mirror

B. snapclones

C. transaction logs

D. database control files

Correct Answer: A
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